Calibration of electromagnets in optics lab
Compiled by Muddasir and Wardah on 06-02-2025

Electromagnet A:

e Wire diameter = 1.3 mm

e Number of layers = 11

e Turnin each layer = 38

e Total number of turns on each side = 418
e Spacing between two poles = 2.2 cm
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Electromagnet B:

e Wire diameter = 1.3 mm

e Number of layers = 11

e Turnin each layer = 38

e Total number of turns on each side = 418
e Spacing between two poles = 2.5 cm
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Optics Lab 1 electromagnet:

e Wire diameter = 1.3 mm

e  Maximum current =3.7 A

o Total number of turns on each side = 408
e Spacing between two poles = 2.5 cm
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Optics Lab 2 electromagnet:

Voltage (V)

This data was obtained on 20-11-19
Spacing between two poles = 2.3 cm
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Spin physics lab FMR setup electromagnets:
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Electromagnet

Slope (G/A)

Resistance (Ohm)

Electromagnet A 8.05 2.25
Electromagnet B 7.18 -

Optics Lab 1 electromagnet 192.7 3.72

Optics Lab 2 electromagnet 407 4.69

Spin physics lab electromagnets 7.81







